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From equation 5(b) aboye, if the first ball is not replaced, find the probability the two
balls are:

(1] both red;
(i) ~ one¢ of each colour.
{4 marks)
Simplify the following:
3 o 1 )
i n)ﬂ(m =0
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(4 marks)
Solve the pair of simultancous cquations by matrix method:
2r—By=T
xH¥2y=T
(10 marks)
s B :
(ﬂ__ . .1-1-1} is a singular matrix.
Find possible values of a.
{6 marks)
Find the sum of the first § terms of the series 2+ 4+B.. {3 marks)

A geometric series is such that it's first term s 2, Find the two possible commemn ratios
if the sum of its first three terms is 26, (7 marks)

The value of & meching originally valued at Esh. 5,000 depreciates at 1 2% por annum.
Determine its valug after 5 years, The machine 15 sold wher its value is less than
Kb 800. After how many years is the machine sold! {10 marks)

IV, = 20) units at 707, V, =3 units at 160" and V=25 units at 210°, calculate the resultant

V. -V, + Vo (10 marks)

"ufz—‘hfl-"f,,- = { 10 marks)
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